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General Instruction for Candidates :- -
@) Ol v gl A AfEr § | weHl & 8fe ar Rl T E
All the question are compulsory. Marks are mentioned in front of the questions.
@ U W1 W 4 T 9gRmeeTd B, 3 W A SR @1 99 FX IR gRAPT H S
forem 21
Question No. 1 to 4 are multiple choice questions. Write the correct answer of each
question in the answer sheet.
@) UAE U BT IR 4T 78 SR IR 7 & o |
Write the answer to each question in answer sheet provided.
(@) o ue & U X aifde T €, S 9 W T SR Ueb A1 e ford |

1.

The questions which has more than one part, Write the answer together in continuously.

Elﬁﬁl'ﬂﬁ"-ﬁ?l FI'SFI (Objective Questions)

RH WA Ughy # 49 i ferei—

@) 1C () XLIX

@) IL | (@) XXXXIX
How to write 49 in Roman Numerals.

(A)IC (B)XLIX
(C)IL (D) XXXXIX
19 10 G B TR W febert AT w87

(31) 2 (@) 3

qq)/, (®) 5

How many prime numbers are there in the numbers from 1 to 10?

(A)2
(€4

(B)3
(D)5
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(2)
ST W IS 3 AR Ryga ar g 8-
(1) Fereaior Ay &1 () ST fafer 1

(@) Formes A & | (R fafy

The principle applies "From the known to unknown" -

(a) Analysis-method (b) Inductive-method

(¢) Deductive-method | (d) Synthesis-method ¢ )
gareR o ¥ wefif oo el FremR EAIE-
) 360° @) 180°
() 1200 (@) 90° ()
The basis of the tbtal data displayed in the circular diagram is -
(A)y360° | (B) 180°

(C) 120° - (D)90°

s Ay @ v forfRag | |

~ Write the definition of inductive method.

AN ]

T TAPIOT ST T UF HI9T 3007 & A FeISY SHBT HRRT HroT febert R b Erm?
If one angle of aright angle triangle s 30°then how many degrees will its third angle be?
< Ud ChiEy eI B AR fALvar garsy |

State foﬁr characteristics of continuous and compreh‘_fznsive evaluation.

TS A1l & Y9 ug ferfay | | | 2
Write the main steps of lesson plan. - ) |

TETETS) TR | AT T HHEIS &7 JEIENYT ¢hY WASEY | | 3
What do you understand by Panchadhari numbers. Explain with example.
QYRR S sk Ay g " 1%4H1Y=3
Write the merits and demerits of play way method.

UF AR F For 8 fHH 500 TR B A1 o | g9 98 5 {6 800 Hiex Wfre W) e,
q7g § WIEfPe @Wd 81 J Y I3 Uc HerdR Y1) B, g3V 98 fhaar YA gelr? 3

A person traveled a total of 8 km. 500m. In which he cycled 5 km. 800m. later, due to failure
of the cycle, he completed the rest of the journey on foot. Then calculate how much he
walked on foot, https://’www.rajasthanboard.com ' -

oo PR (aedbagfemn) &5 wed 87vmemgy | 3

What is Dyscalculia? Explain it.
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@) = @)
Represent the following on the number linc.

3 8
@ 3 () 5

TS 1 H=aTHS auReT W & e 6 qAsgl |

Explain Piaget's theory of learning numerical concepts.
frrfeRaa Sion ST @HemsU |

(&7) w= BT

() & BT

(@) T 1T

Explain angles -

(2) Supplementary angle

(b) Complementary angle

(c)Opposite angle

e T e oY s e frfa |

Write the major problems of school mathematic.

TR B FETATT T 459, 750, 120° B P17 TS |

Make angles of 459, 759, 1200 with the help of compass.

Yo o) SR GHSTT €U 9B dIHI Wbl BT IO DI |

Explain the concept of pattern and describe its three types.

1Ve+172=3

141+1=3

10, RO FREToT 3 SIUSY @ WHTA P AT T DR @ FA R TR (QIRY) A strereerapar
/ 2? gHEITY (@S 6 )

What efforts or reforms are needed to reduce or climinate the influence of gender in

teaching of mathematics. (6 points)

6
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20, Frefofea 3 @ Rl 6 ueAl B &l HIRT| 1x6=6
Solve any 6 questions -
/Ca) 45% @ geAerg e 3 fafEg |
Write 45% in decimal fraction.
(b) 4 Prefitex ) Rreiritex # aafire
Convert4 mm into kilometer.
(c) fordy erdr Y =1 gl & 4 1 1 o1 oy afeT BT HIVT FTT7
What is the degree of angle between two hands of aclock atexactly 11:00.
()15, 21 3 30 a?ragﬁﬂquaﬁufrrﬂa%ﬁrm
Find the L.C. of 15,21 and 30. '
)9) 2ﬁ%msaﬁﬁaﬁw—waﬁmﬁﬁfﬁﬁﬁﬁﬁﬁﬁﬁl
Iftwo chapaties are distributed equally to three children, then how much will each get?
)3T T o 25 TRAS) 1968 3. Y B 1T | 3 UG 2004 T T 1 S TAT |
Ramesh was born on 25 feb. 1968, then find the age of Ramesh on 3 sep. 2004.
(o) TR B AR DR B e BT A e
Write the formula for the area of four walls of the room
(h) 31 e 650 TTH BT 18 ¥ UM BT |
31 kg. 650 gm. multiply by 18.
@) 1593 e ﬁ%ﬂfl’l?;"\' Bl 87
How many cm. arein 1inch.?
G} SR FTEA feray |

Write Heron formula.
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